
Thule RideAlong Lite 
100109, 100110, 100111

Instructions

501-8238-01

EN 14344

0-9 M

9-72 M
9-22 kg
20-48,5 Ibs

Carbon 
fiber frame

https://www.carid.com/thule/


x1 x1

x1x1

x4

x4

x1

x1

M6x44
M6x1.7”

M6x58
M6x2.3”

501-8238-01 2

EN

DE

FR

NL

IT

ES

PT

SV

DK

NO

FI

2

3

5

6

8

9

11

12

14

15

17

ET

LV

LT

PL

RU

UK

BG

CS

SK

SL

HR/BiH

18

20

21

22

24

26

27

29

30

31

33

RO

HU

EL

TR

HE

AR

ZH

JA

KO

TH

34

36

37

39

40

42

43

44

45

46

Security

Instructions

x1



501-8238-013

1
A

B

C



501-8238-01 4

2

A

A

A

A

B

B

B

B



501-8238-015

3

x4

A

C

B

Ø 27.2-40 mm
Ø 1.07-1.57”

40x55 mm
1.57-2.16”

M6x44
M6x1.7”

M6x58
M6x2.3”



501-8238-01 6

4 A

B

80 mm (3.14”)
40 mm (1.57”)

5

8 Nm

x4



501-8238-017

max 100 mm 
max (3.94”)

6

A

B



501-8238-01 8

7

1
2

3

A

A

B



501-8238-019

8

B

A

A

B



501-8238-01 10

9

A

A

B

B

C



501-8238-0111

Downhill



A

A

C

B

B

D

Discover other bikes & accessories on our website.

https://www.carid.com/bikes-accessories.html

